S - BE . SRI(SIH) - NISA - BES 0l ar o ol & o HimE==l
=il 36,559,224 34,570,124 989,100
s 300,000 300,000 0
= 36,259,224 34,270,124 1,989,100
A S (MY - SAD] HUX/ASHEE - DEF 28,461,389 26,477,389 1,984,000
s 300,000 300,000 0
< 28,161,389 26,177,389 1,984,000
Merared XIRMA & 10,598,584 10,604,584 26,000
et 22Y UIERD 7= 9,000 15,000 26,000
308 KtXISHMSOIH 9,000 15,000 26,000
11 S| 2SOICHEHE & & 2 & A I 9,000 15,000 26,000
O==0t NLFH22 A= 1R g4 9,000 15,000 26,000
OleH clEl &Y |4 12,580,055 10,590,055 1,990,000
s 300,000 300,000 0
< 12,280,055 10,290,055 1,990,000
Htole E& Jlet Oleixt 28 1&st I8t 25(=30t 840,000 0 840,000
SENED)
403 XX SHHSK=01H 840,000 0 840,000
01 XISt AH=2 = 840,000 0 840,000
OHlol2 E& JIBt DIeixt 22 0&3 J|Bt
= 840,000 0 840,000
IRt HiE el otE N EHOHE RSF(=IHAEXH) 450,000 0 450,000
403 XX SHHSK=01A 450,000 0 450,000
01 XIXISHIA=2E X 450,000 0 450,000
O®EIIXt BHEel etEd EHOtHH 2= 450,000 0 450,000
AEZ DB Lv.4 MNEFERE 288 I N 100,000 0 100,000
L(2HEENR)
403 XIS HSKH=01AM 100,000 0 100,000
01 XXX AH=2E2 = 100,000 0 100,000
AEZ JIEt Lv4 XISFEXE 2HsE B
JBl= g 100,000 0 100,000
AtEZ D|Bto] XieFd AZ It olZet RE(30t 600,000 0 600,000
HFR)
403 XIS HSKH=01A 600,000 600,000
01 XtXIEHHAH=2E2 = 600,000 600,000
O4AEZ J|Bte| Ite+=d 45 "It QX
et 7= 600,000 0 600,000
eSS - X (UED|=/0E)|=HAXH) 6,887,379 6,882,279 5,100
NS XIATHA BT D 3,253,959 3,248,859 5,100
ZREEIXNE B2 HR2LH X2 31,350 26,250 5,100
303 L&A= 10,000 4,900 5,100
01 Z&a=a 10,000 4,900 5,100
OZASEENN T SRH ANRLH B4 10,000 4,900 5,100
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